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X5 H2 H7 H12 H17 H22 H23 H24 H25 H26 H27 H28 H29
2 10.0 9.6 9.5 8.4 8.5 8.3 8.2 8.2 8.0 8.0 7.8 7.6
1,221,585 | 1,187,064 | 1,190,547 | 1,062,530 | 1,071,304 | 1,050,806 | 1,037,231 | 1,029,816 | 1,003,539 | 1,005,677 976,978 946,065
Ril&E 10.6 9.6 9.3 8.2 8.5 8.3 8.4 8.3 8.2 8.0 8.0 7.8
16,517 14,780 14,098 12,148 12,004 11,727 11,723 11,566 11,323 11,020 10,886 10,558
ENET 11.1 9.6 9.1 8.0 8.3 7.9 8.6 7.8 8.1 75 7.7 7.8
1,337 1,124 1,023 779 611 574 614 550 566 516 523 522
ER™ 11.2 9.5 9.5 6.2 7.0 7.1 7.3 6.6 6.9 6.9 6.9 7.0
301 240 228 238 246 244 245 219 224 219 217 214
WiEH 11.4 9.7 8.7 9.1 7.9 75 8.1 8.2 7.9 7.0 7.6 6.5
276 231 193 193 199 187 198 197 188 164 176 148
i = BT 10.7 11.3 10.3 11.4 12.2 105 12.5 9.9 11.3 9.8 9.5 11.7
129 143 137 156 166 143 171 134 154 133 130 160
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ESES| 6.7 7.4 7.7 8.6 95 9.9 10.0 10.1 10.1 10.3 10.5 10.8
820,305 | 922,139 | 961,653 | 1,083,796 | 1,197,012 | 1,253,066 | 1,256,359 | 1,268,436 | 1,273,004 | 1,290,444 | 1,307,748 | 1,340,397
EigE 8.0 8.8 8.9 10.1 115 11.8 12.0 12.4 12.4 12.3 12.6 13.0
12,475 13,605 13,519 14,866 16,303 16,645 16,784 17,225 17,091 16,855 17,071 17,515
ERNEt 10.0 10.9 10.9 12.2 14.1 13.8 144 145 15.7 15.2 15.1 16.0
1,203 1,280 1,232 1,188 1,039 1,000 1,030 1,024 1,092 1,047 1,026 1,070
R 10.0 11.8 13.3 13.8 15.4 15.6 15.6 17.0 18.0 16.9 17.2 17.7
269 297 317 531 537 533 523 559 583 540 539 546
NG 11.6 11.6 9.9 11.1 15.1 134 15.6 13.6 15.9 15.7 15.9 16.2
280 275 219 235 380 334 382 327 376 366 366 366
& =< BT 6.7 7.7 7.1 8.0 9.0 9.8 9.1 10.2 9.8 10.3 8.9 11.6
81 98 95 110 122 133 125 138 133 141 121 158
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X5 H2 H7 H12 H17 H22 H23 H24 H25 H26 H27 H28 H29
e kS| 423 32.1 31.2 29.1 242 23.9 23.4 22.9 22.9 22.0 21.0 211
53,892 39,403 38,393 31,818 26,560 25,751 24,800 24,102 23,524 22,617 20,934 20,358
RIGE 50.5 43.5 445 39.7 293 27.5 27.0 28.4 26.0 243 22.2 23.3
879 672 656 502 362 332 325 338 302 275 247 252
EWE 41.6 36.8 35.8 41.8 31.7 23.8 254 30.0 374 20.9 27.9 20.6
58 43 38 34 20 14 16 17 22 11 15 11
TEM 32.2 28.3 420 36.4 35.3 12.1 121 26.7 21.8 9.0 31.3 22.8
10 7 10 9 9 3 3 6 5 2 7 5
NI ] 45.0 17.0 39.8 25.3 38.6 26.0 43.5 34.3 30.9 40.9 33.0 13.3
13 4 8 5 8 5 9 7 6 7 6 2
{£ < BT 22.7 20.5 21.4 48.8 17.8 40.3 22.9 29.0 66.7 14.8 15.2 24 4
3 3 3 8 3 6 4 4 11 2 2 4
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2= 5.9 6.4 6.4 5.7 5.5 5.2 5.3 5.3 5.1 5.1 5.0 4.9
722,138 791,888 798,138 714,265 700,214 661,895 668,869 660,613 643,749 635,156 620,531 606,866
RI&E 5.2 5.5 5.2 48 4.7 45 45 4.7 4.4 45 4.4 4.3
8,166 8,431 7,805 7,016 6,647 6,337 6,335 6,559 6,137 6,118 6,013 5,831
EAE 4.6 47 47 42 40 42 40 3.7 3.7 3.7 4.0 4.0
556 553 527 407 297 307 289 259 261 256 271 268
oSkl 47 40 48 3.8 3.4 4.1 35 35 35 3.2 40 3.9
127 102 115 144 119 139 119 115 113 102 126 119
AT 5.5 5.1 48 4.7 41 4.7 4.2 38 3.7 41 3.9 35
134 121 105 100 103 118 102 92 87 96 90 78
& < BT 45 5.3 49 5.0 5.5 3.7 5.0 3.8 45 4.3 40 5.2
54 67 66 68 75 50 68 52 61 58 55 71
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X5 H2 H7 H12 H17 H22 H23 H24 H25 H26 H27 H28 H29
2F 1.28 1.60 2.10 2.08 1.99 1.87 1.87 1.84 1.77 1.81 1.73 1.70
157,608 | 199,016 | 264246 | 261917 | 251,378 | 235719 | 235406 | 2312383 | 222,107 | 226215| 216,798 | 212,262
RigE 1.23 1.53 1.92 2.02 1.77 1.73 1.75 1.70 1.68 1.68 1.60 1.55
1,922 2,361 2,906 2,976 2,515 2,435 2,450 2,358 2,316 2,304 2,169 2,089
EWEt 1.13 1.48 1.81 1.88 1.58 1.79 2.05 1.45 1.75 1.60 1.35 1.42
136 174 204 183 116 130 147 102 122 110 92 95
TR 0.63 1.03 1.30 1.80 1.55 1.23 1.70 1.12 1.24 1.60 1.12 1.01
17 26 31 69 54 42 57 37 40 51 35 31
Nl 153 1.48 2.08 2.17 151 1.97 2.20 1.63 1.90 1.76 1.26 1.68
37 35 46 46 38 49 54 39 45 41 29 38
{k < BT 1.41 2.13 2.10 1.46 1.76 2.87 2.63 1.92 2.72 1.32 2.05 1.90
17 27 28 20 24 39 36 26 37 18 28 26
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2 F 1.26 1.39 1.39 1.41 1.43 1.42 1.45 1.44 1.43
e 1.45 1.61 1.60 1.63 1.64 1.66 1.67 1.71 1.70
ENET 1.71 1.97 1.97 2.21 2.10 2.22 1.94 2.07 217
ERET™H 1.55 1.98 2.21 2.34 2.24 2.39 212 2.32 2.40
¥ETH 1.91 1.85 1.82 2.08 2.22 213 1.80 1.99 1.79
1k /< HT 1.81 2.09 1.84 2.20 1.80 212 1.85 1.86 2.35
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